Instrumental Variables Homework

1)  Use the data in the Stata data file, Mroz.dta to estimate the return to education using the simple regression model

log(wage)=B0 + B1*educ + error

Interpret the regression results.  Indicate some reasons why this regression might produce a biased coefficient on education.

2)  Consider fathereduc as an instrumental variable for education.

Is the instrument relevant in the sense of Stock and Watson’s first condition for a valid instrument?  How can you tell?

What about the second condition?  Can we test the second condition?  Why in theory might this be a good instrument?  Why in theory might it not be a good instrumnent?

3)  Use fathereduc has an instrumental variable for education using Stata’s ivreg command – ivreg lwage (educ=fatheduc).  Interpret the results.  Compare with the results from 1 and discuss.

